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(T-CLK) 1CD D4 1 { pai2 | | GND1 40 C1 Nz
(T-CS)" 1CD D5 2 | pgis oND |29
(T-DIN) 1 CD D6 R = aay |8
(T-DQ) 1CD D7 4 pgis RESET 2L L
NG — (T-IRQ) LCD_RST__5 | ppg P11 |36 LCD_D3 Xip
- NCO — XL pao Pe10 [-2—LCD_D2
| SCK RX_ 7 |
c SD_SCK PA10 PB1
[9) D sb_po |—MISO P2 L1 pan PBO 53 133 BLUE
= sD_DI | MOSI 9 PA12 pa7 |32 MOSI
reseT_sutTon H- () sp ss |—SD_SS 1 SDSS 10 f pags Pas |31 MISO
3v3 - LCD_D1 2 11 pg3 Pas (20 SCK 15V
5V O LCD_DO 3 12 1 ppg Pa4 |22 PA4 gLy SENS-V
GND2 s 4 18 1 pps Pa3 |28 LCD CS  (LED) ’ ‘
GND LCD_D7 5 14 1 ppge pa2 2L LCD RS  (RST) R4 il B
NC6-VIN LCD_D6 & 15 { pg7 pa1 |26 LCD_WR  (CS) A 2
LCD_D5 LCD_DO 13 PB8 PAO %LCD,RD (D_C) 18k 3
LCD_RD LCD_D4 PB9 PC15 &
LCD_WR Lcb p3 |——LCD D3 18 1 5y pcis |23 1 Sz
LCD_RS LCD_D2 | 1 CD D2 +5V 19 GND2 pc13 |22 {onbrd LED} 21
LCD_CS NC4 f— 2 1 33v1 VBAT |21 PA4_3
LCD_RST NC3 f— <
NC5 TP1 GND
GND
For Sensor Modules
where it outputs 5v signal
Omit R5 or R2
R7 or R4 = 1k
R6 or R3 = 2k
+3.3_BLUE
@
LCD1 IF LCD has onboard 3v3 reg +5V
TIrRQ |—LCD_RST 3v3 circuit should be omitted J-SER
700 |—LCD D7 .
TDIN | —LCD_D6 +5V +3V3 TX 21
3 Tcs |—LGCDID5 J_PWR+5V - RX D
@ T-CLK | LCD_D4 , LCD_CS 1 /]\ i’T N ol 7y
= oo L—Mmso  R1% 2 .| ca GND .| cs
— LED 460 | 3 IC1 GND
O sck | SCK = LM1117IMPX-3.3
® s |—wosi
A poc —LCD_RD Most LCD have transistor GND
O RST |—LCD_RS Then omit this circuit <
4 s |—LCD_WR and use Jumper Reg IC1 can be omited if external 3v3 is avail from J-PWR
GND “ .
vCe USB Pullup Andrew McKinnon
+5V

1%+5V

3
+3V3

If 10k on Blue Pilleo || —
Should be 1k5 ==X
1k8 in parallel
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